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1. If the symmetric equations of the line through the point (2,3,—7) and
orthogonal to the plane x — y + 5z = 1 are given by
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3. The line passing through the point (1,2, 3) and orthogonal to the plane
z + 3y + z = 21 passes also through the point
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4. The intersection of the paraboloids z = z2 + y? and z =4 — 22 — y? is

@ a circle P—

an ellipse that is not a circle
(c) a plane 1 *51 P L’/(ﬂ.
(d) a straight line "

(e) a single point
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5.  The quadratic equation

—22% 4+ 8z +y+52° =8

represents 3 % C..’L’L - U X 4’({) 4 4 4'5’%7—:'82

a hyperbolic paraboloid
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(b) an elliptic paraboloid e Q‘C X ) i
(c) an elliptic cone
(d)  a hyperboloid of one sheet

(e)  a hyperboloid of two sheets

6. Consider the following statements about the surface

T=\42+22 -8y +22+9

=D

ﬁ(l) Its graph consists of two sheets
K(II) It has a vertex at (0,1, —1) ( ;!.ML "y Sabt fu e %’)
o (III) Its axis is parallel to the z-axis

Which of tj:éatement(s) above is (are) true about this surface?
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7. The range of /‘th wﬂ lAWl %/1’
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X TYz
9. lim —T
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10. The value of ¢ that makes that function

tan(z? + y?)
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11.

12,

If f(z,y) = (tan~Y(2y))? then f,(1,1) =
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13.  If f(z,y) = ysin~!(zy), then

fx(1,0) + £,(1,0) =
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14.  The linearization of f(z,y) = 2%y++/2% + y? at the point (1,0) is L(z,y) =
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15. If 2 = 2% — zy + 3y° and (z, y) changes fron?(Q, —1) to ¥1.96, —0.95),
then dz =
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16.  Using the linearization of 4 . %‘ - q/ = /é" /L%
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17. If

2.
F(z,y,2) = 2% — ysin(z — 2) = € )

then the value of i at the point (1,1,1) is
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19.  The directional derivative of f(z,y, z) =
tion of Q(2,0,—1) is
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20. The maximum rate of change of f(z,y,z) = 4z +
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